BEKF

FLOOR HATCH C-LINE 2
cl-ln-knl-2

PRODUCT DIAGRAM

]/Wouming screw
Socket

45 functional parts
customer demand

Card board
Square box fixing screws

Square box screws

Socket

Rubber stopper

Annex Sketch Specification Quantity Remarks
(pes)
Square box [ M4* 30 3
screws
Square
box fixing | (—G——— M3* 30 3
screws
Rubber | meSres| 06t 3
stopper
Square box For square
mounting | Pe—c— M3*30 2 q
box
screws
PRECAUTIONS

1. Forindoor use only

2. Only licensed professional electrical contractors should
install the product.

3. Do notinsert foreign objects into the socket.
Avoid liquid spills into the outlet.

5. If the product is malfunctioned, immediate electrical
maintenance is required by professional.

6. Do not use detergent for cleaning.

PRODUCT BRIEF INTRODUCTION
1. The socket is suitable for 45 modules.
2. The protection level for solids and liquids is IP44
3. The opening angle is 180
4. Used for the concrete floor.

TOOLS REQUIRED FOR INSTALLATION
1. Impact drill.

2. @6 cement drill bit.

3. @4 twist drill bit.

4. Phillips screwdriver.

5. Levelruler.

6. Meter ruler.
INSTALLATION STEPS

1. Height adjustment

The height of the bottom box is 59mm, adjust the bottom
according to the height of the installation space using three
adjusting screws.

Ruler measuring bottom box

installation height Three screws

to adjust the height
Level measurement

with spirit level to ensure
Flat bottom box

2. Drill mounting holes
Drill three mounting holes, as shown on the diagram below,
and install three @6 rubber sleeves.

These three hides are marked on the
floor with a @4 large drill pit pilot hole

T —T %0

[ J

Use cement drill bit @6 drilling depth
on the ground according to the mark.
More than 40 mm, into the rubber plug
with a diameter of 6 mm

3. Mounting the floor box

Mount the bottom box screwing 3 self-taping screws into the
corresponding 3 rubber sleeves.

Into three M4*25
Self-tapping screws

3 rubber plugs 6*29

—— °
,

4. Connecting cable duct

Remove the plugs from the cable outlets of the box. Enter the
conduit and lay the cables. Install and secure the dust cover
plate with screws.

Dust cover

020 line tube

5. Pouring concrete

The height of the pouring cement is the installation height of
the box minus the thickness of the floor covering.

Tile thickness

Pourin
concrete

L
g o

6. Floor covering

After the concrete is solidified, the tiles are laid after cutting
a square hole of 91*91 mm. The surface is flush with the top
surface of the bottom box.

Top level Porcelain brick

[ ]

|

7. Function part wiring
Ground the cable and connect it to the function 45x45 module.

~1‘#—H7+

—
—
—

8. Install the socket into the box

Install the socket into the bottom box with two M3*30 fixing
screws.

Mounting

Push the two bottom
boxes inward
to archive splicing

i ["gﬂ]

Push inward A— A—

h Push inward
T oo ol

The direction
of the water nozzle
is the same

ekfgroup.com



B EKF

JNIIOYOK HAMOJIbHbIW C-LINE 2
cl-ln-knl-2

CXEMA U3SLENUA

MoHTaXxHble BUHTbI

PamoyHas nnactuHa

Mopynb 3YW 45x45

MnacTukoBbIv cynnopT
PerynupoBoyHbie BUHTbI
KBaApaTHoOW Kopobku

KpenexHblil BUHT
KBaApaTHOW KOpobKu

KBappaTtHas kopobka

Liobens

HaumeHoBaHue Cxema Creundu- Konuuectso
Kaums
erl‘le)KHbll:I BUHT [ M4* 30 3
KBafipaTHoM Kopobku
KpenexHoiit gint [ VERE 3
KBaApaTHOI1 Kopobku
Riobens EESXED 0629 3
MOHTa)KHbI? BUHTHI . M3*30 2
KBafipaTHOM Kopobku

MEPbI NPEAOCTOPO)XHOCTHU

1. Tonbko Ans UCNoNb30BaHUA BHYTpK noMeLLeHun.

2. MoHTax npousBoaunTcs NpodeccnoHanbHbIM MOHTaXHU-
KOM.

3. He BcTaBnsiiiTe nocTopoHHMe 06bEKTLI B pas3beM.
M3beraiite nonagaHns XWAKOCTU B pa3beM.

5. Ecnu yctpoicTBo HeucnpaBHo, TpebyeTca npodeccuo-
HanbHoe TexHuueckoe obcnyxnsaHue.

6. He ucnonb3yite Motoliee cpefcTBo npu ybopke.

KPATKOE ONMUCAHUE U3LEJNINA

1. THe3po nopxoput ansa MomynbHbix YW Tvna 45x45
2. YpoBeHb 3aluThbl OT NbIAN W XuaKocTu IP44.

3. Yron xopa kpbiwku 180.

4. [nsi MoHTaxka B BeTOHHbIV Nos.

WHCTPYMEHTbDI AJ19 MOHTAXKA
1. YpapHas gpens.

Csepso no 6eToHy @é.

CnvpanbHoe cBepno D4,

OTBepTKa.

YpoBHeBas NnHenkKa.

el

Jnneiika.

MHCTPYKLMUA MO MOHTAXY

1. PerynupoBaHue BbICOTbI

BbicoTa kBapgpaTHoi kopobku coctasnsieT 59 MM. B 3aBucu-
MOCTM OT ry6UHbI MOHTaXXHOTO MPOCTPAHCTBa OTPErynupyiTe
BbICOTY MPU MOMOLLM TPEX PETYANPOBOYHbIX BUHTOB.

JNuHeiika ans uamepeHus rybuHe!
YCTaHOBKN MOHTaXHO Kopobku

Perynuposka
BbICOTbI BUHTaMU

Wcnonb3yiite ypoBeHb,
yT0b6bI ybeanTbcs
B POBHOCTM MOBEPXHOCTH

;

—1 o]

L]

2. BypeHue MOHTaXXHbIX OTBEPCTUN

I'IpocsepnMTe 3 MOHTaXHbIX OTBEPCTNA B MOJY, Kak nokasaHo
Ha cxeMe, 1 yCTaHOBUTE B HUX nobens AVnaMeTpoMm 6 MM,

C nomoublo 4-MM cBepna caenaiite 3 oTBepcTus
B MOHTaXHOIA KOpobKe 1 NoMeTbTe MecTo
ycTaHoBku awbeneit B nony

T — S0

[ J

Wcnonb3yiiTe cBepno no 6eToHy 6 MM,
yTobbI CAenaTh oTBEpCTUS rNyBUHON Bonee 40 MM,
ANs ycTaHoBKW Awobeneit

3. 3akpenneHue MOHTaXXHOI KOpo6ku

3akpenunTe MoHTaXHyto KOpobKy, 3aKpyTvB 3 KpenexHbiX BUHTa
B fitobens, ycTaHoBMEeHHbIX B 6eTOHHBbIM non.

3 KpenexXHbIX BUHTa

3 nobensa

MecTo L Y || w
YCTaHOBKU o
BUHTOB
°
== :
]

4. NopBopka kabenenpoBopa

YpanuTe 3arnywkn kabenbHbix BbiBOLOB Kopobku. BeepwnTe
KabenenpoBoA v nNposioxuTe kabens. YctaHoBuTE U 3akpenute
C MOMOLLbI0 BUHTOB YKPbIBAIOLLYIO MIaCTUHY.

prblBaPOLLLaﬂ nnacTtuHa

(20 mm Tpyba

5. BeToHMpoBaHue

Baneiite LIleMeHT Ha BbICOTY yCTaHOBKU MOHTa)XHOM KOpO6KI/I,
OCTaBMB 3anac BbICOTbl A4J1A HANOJIbHOI0 MOKPbLITUA.

Tonu.lea HanosibHOro NOKpbITNA

3anueka
6eToHa

6. YcTaHOBKA HanoJsIbHOro NOKpbITUSA

Mocne 3acTbiBaHUs beToHa ycTaHOBUTE HaMonbHOe MOKPbITHE
C Bblpe3aHHbIM KBaApaTHbIM 0TBEPCTMEM pa3MepoM 21x91 MM.
[MoBepxHOCTb NOKPbITUS [OMKHA ObiTb Ha YPOBHE MOBEPXHOCTH
KPbILLIKMK KOPO6KM.

nOBEpXHOCTb HanoJsibHOro NOKpPbITUA KepaMquCKaﬂ nanTKa

[ ]

|

7. NopknioyeHue mopgyns YU

MonkniounTe Kabensa K coOTBETCTBYOLWMM nopTam Moayns YU
45X45.

8. YcTaHoBKa NtoYKa B HanoJibHyt0 KopobKky

YcTaHOBUTE JIOYOK B HaMoJsibHyto KopobKy Mpu MoOMOLLM ABYX
MOHTaXHbIX BUHTOB M3*30.

MpwxmuTe 2 kOpobku
APYr K ApYry ANs COeAUHEHMS

E @ @ @ @
[laBuTb BHYTPbL Lﬂ'aBMTb BHYTpb
[R— —

e U U UJ

KaHanbl ans oteoga sogs!
HanpaseHbl B OfHY CTOPOHY

ekfgroup.com



